EARAROBEEIERT — 2 N— IBISH —F

20195F4A8H (A) 1HKIR3A

Kl C 2 U#E o 5 R —k EEE R
[A&E4£] 1 7 :200,000 3 2 3%&:52,000 @ 3% :28,000H  43%:20,000 M . 5 #&:10,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N AR :31. -1-1- . — HEEE (KR)
1 42 K F+ > 4 5 55 1(3_1)0 1-1-1-1 | 40.9 1 (4:136) jﬁg%%
LA a0R—5— BITILAHAT TE FE
. 5 # o9 | BEaXE 1:31.2 2-2-2-2 |41.0| — 2 475 | BRAS (KiR)
2(8|11] FIFITNYL 56.0 (3/4) 4 | EEES
RZA—YLIO—X BAHLRA AT aiutie
o e —p = 6 | wOHB— 1:31.4 5-5-4-3 |40.8| — 3 423 | #EEE (KR
311 |V—TFrFTZ> # 54.0 ) 2) Rlw=
R:TTyv T AR BieIRIRY—L4 FHRE®S
- BAJ ER TR : -8-6- — 12 ARBEAl (KR
4 INF =54k o4 2 1.(331).9 8-8-6-5 | 40.8 7 (5+333; e v
RiAL T anK—F— B:2AFIU—F HFAYREy K
- B2 : -9-9— — RBILET] (B
5 RKILT A F v — 4 8 54-0¥ 1(731t§) 9-9-9-6 | 40.3 6 422;3 ;Jﬂl‘%—
R:TSAT7X84L B:RSUARYY Y 2145
o GRS :32. -3-3- . — EEEE (BE
6 T h—A 44 e 1(332)4 4-3-3-4 | 42.0 4 (4:121) ga
X JARZ N B:a3uTr - ESlite
N KR . ~11-10~ — R (B%RE)
2 NS it 5 P 1.(312>.6 10-11-10-9 | 40.9 1 (4&2) g
LA Lk—LbL B2 b3y ry Y avEEMASH T avH
= EATE : —7-7- — fREEFD (FKR)
8 S T0yH L i 5 o (11.312/.5 7-7-7-7 | 41.6 8 ?:135) T
R4 g RT—IEY BXF—T Ry 3:2e]
6 | AViRE 1:33.2 11-10-11-10| 41.5 | — 5 455 | ISR (KIR)
9|70 *TI%1FaA2A 54.0 21/2) L
R:T7HoHx>02 B:hyTFaM4X HE77—»4L
4 o4 | BRRRE 1:33.6 6-6-8-11 |42.3| — 10 | 503 |WEHIZ (KiR)
105|167V —% 540 @ 1/2) (g |FE—MS
R:vavFrhsT B:Va-ZvA0 BEZ %Y K
N 5 o6 | BERERE 1:33.9 3-4-5-8 | 43.1| — 12 | 414 |REER OKR)
1118121 = =2 ] 54.0 2 (+8) 2IREE
LR =—LYv—=— B:Z14h—h HET77—L
. 6 | BAK 1:35.3 12-12-12-12| 42.5 | — 9 451 | =EHEE (KR)
1207|9|F1>1N=7 %53.0 © v | @ TIIYE
RTANRSy Y2 BATVANA I H— LI 4577—14
@ 1—F—@&BIEf
13=7r= 4,11,12,5,1,6,2,3,7,8,10,9
Aol=5r= 4,11,5,12,1,6,2,3,7,10,8,9
30—7+— 4,11,5,1,12,3,2,6,7,8,10,9
41—+ — 4,11,1,5,3,7,2,12,8,10,6,9
[ RN
B OB 4 130H4 714K 4-11 140H e & 4-8 260M &R 1-4-11 390M
% B 4 100MH 1-4 150 | | /& = 4-11 260/ | | EE 4-11-1 880M
1 120 1-11 260M B H 4-11 360
1 1209

ABICOVWTRDTEEERROODE. TR LIV,




